BFERLI0(E (20245381888 %E)

100m

JIE LY 22l &F
1 10730 gL = R4
2 10”51 B EX H23
3 10756 EM 4NBA H22
4 10759 E2H BFE H24
5 10767 FEX HEE R5
6 10772 Bl RFE H29
6 10772 i BE H31
8 10773 8L E& H5
9 10774 WHE [lIE H8
10 10776 IR XA H27

400m

NIE 2 LY 3 22l &F
1 47734 KA B&/| Rl
2 47753 REF F##C H4
3 47777 HLE BEE R6
4 47783 P H26
5 47799 FER OA H27
6 48”16 HEA E#— H25
7 48”43 IR RSE H29
8 48”58 YEiE A H8
9 48763 @l &K H30
10 48766 INFE R — H11

1500m

200m

-} EE 5 Z2 ]| &
1 20”84 L E R4
2 21742 HE FE5A H11
3 21744 R R H27
4 21750 i BE H31
5 21757 | Ko £FH R1
6 21759 E2H BT H24
7 21767 FA oA H27
8 21772 EH %NBf H19
9 21777 = Mm¥E H28
9 21777 IR XA H27

800m

g2 EoE% 22l &F
1 15175 | #BE# EfM| S57
2 1’5258 EE H H7
3 1'52724 Bl BE R4
4 1’5312 =F # H28
5 1’5398 A —H R1
6 1'54”74 A S H21
7 1’54799 BEFE i H29
8 1’5570 L% R S59
9 1’55765 tHE &E H27
10 1'56”08 £k LN H14

5000m




[:3iv2 o 22l &F
1 348”80 =F # H30
2 352744 L8 M S60
3 35275 =F Rk H5
4 3’53752 E% HE H3
5 3’55726 gL KN H24
6 357715 NI XXE H12
7 358701 |@BEH 1EM| S57
8 3’58767 HHE RE S54
9 3'58”6 AT RN S54
10 359712 BK KEE H28

10000m

[:3iv2 LY 23 22l &F
1 2951786 | Mkt FE H24
2 3023”9 E=H BR S57
3 3035773 | /NE fmK H6
4 30'36"74 hiE = S59
5 3043745 =Lt ff H28
6 305777 TR H2
7 3058”1 L8 M S60
8 3100700 | #&H KA S56
9 31'06”4 R ERER| S56
10 3106”5 LS ] S53

110mH

JIE £ % £l &F
1 13788 IR XA H27

g2 EoE% 22l &
1 142576 a5E RIE H5
2 1427700 | Mt FE H24
3 1428”9 EH BR S57
4 14'38761 L8 M S60
5 14'43” E% FHE H3
6 1445709 o K R1
7 1448700 hiE = S59
8 14'52"74 =Lt #f H27
9 1455”0 AIFT R S53
10 14'56"58 A £t H28

IN=T

g2 Bk 22l &
1 1°05727" | Mt FE H25
2 1°07'48” A £t H28
3 1°07'48” o K R2
4 1°08'36” | /NE @K H5
5 1°08'39” TR H2
6 1°08'40” =F % H26
7 1°09'49” R = H15
8 1°10'46" | FK K& H29
9 1°11°09” | /M XE H12
10 1°1133" | &8 11T H4

400mH

g2 Bk Z2: T} &F
1 50”08 RE 2 H4




2 14728 INK B H30
3 14740 =R s S53
4 14750 It X S52
5 14762 #0O Kih R6
6 14”71 5H KB R2
7 14778 L RIS H22
8 14779 J\R IE S60
9 14790 BEX BEA H16
10 14792 ok R H25
3000mSC
JIE i EfE &l F
1 8'49”33 a5E RIE H4
2 9'13”5 LS ] S54
2 9'1375 B FHERER S56
4 9141 HH RE S56
5 9'18”31 7l ER R6
6 920”2 HH = H1
7 9'20”66 BIK K& H29
8 9'25"8 HIE FA S56
9 9'26"28 E% HE H2
10 9’29708 B flE S60
E =Bk
JIE i EfE &l F
1 2m11 R B H5
2 2m06 i NI H22
3 2m05 MBI K=BR| H20

2 51707 AR BHE H27
3 51792 F#t &% H28
4 52”06 =R EH H1
5 52742 fEIL R H23
6 52778 ok Ak H24
7 52787 aH KB R1
8 52792 BX EF H17
9 52799 AaH ER/ R1
10 53717 B #t H2
5000mW

B2 Bk £ &
1 21712798 CE TG R5
2 2117708 | A [FHX H18
3 22'15”51 A Bt H18
4 23'05”59 K fE R4

10000mW

B2 % & &
1 42'19727 Al 3R R6
2 42'59” s RX H19
3 45'38” tH Bt
4 4731770 NI R4
5 1°0257737 | HE = H16

EMEBE

g2 Bk &l &
1 7m35 WA [/IE H7
2 7m23 'R EE R3
3 Tm22 B H20




3 2m05 RE K R4
5 2m04 Bl Fi S51
6 2m03 AT RE R5
7 2m00 ET BRI S48
7 2m00 i B S56
7 2m00 nE B8E H5
7 2m00 KZ EN H31
IS
[:3iv2 EY 23 22l F
1 4mA46 Ll IEAT S46
2 4mA40 L EX S42
3 4m30 A HH= H23
3 4m30 FA A H25
3 4m30 AT FAKER R7
4 4m20 =H FE S53
4 4m20 =8 ERE S63
4 4m20 A E# H8
4 4m20 WEe f@—Bp H27
4 4m20 IIE Rl e H31
4 4m20 He Ft R3
Rt
g 2 B 22l &F
1 15m28 fEH &F H28
2 15m15 i H1
3 15m01 <3k BEX H25
4 14m97 i E— H25

4 Tm17 FER EA S63
5 Tm16 Bl KZER| H25
6 7m15 $H BE H24
7 Tm14 hH BE H31
8 7m10 =% B¥E H24
8 7m10 ] H24
10 7m07 f&5h Rl S57
= EZ Bk

-} ERE% Al F
1 15m38 | BER EF| Ri
2 15m09 Bl B H19
3 15m00 FH EX H3
4 14m86 NHE BEE S59
5 14m58 LI Rl e H28
6 14m55 T E# H5
7 14m50 AE EX R7
8 14m38 SEH e H11
9 14m36 AH B S55
10 14m28 &5 S55

A&

NE 2 ERESd &l &F
1 51m13 el & H28
2 46m42 EE EE H29
3 44m56 BK BEE H25
4 43m90 St X H24
5 41m56 KE =ZE H23




6 41m08 EMA EBA S60
7 40m38 KA & S64
8 40m30 R E— H26
9 39m88 =i WiZ S59
10 39m44 A R S54
RlUE;3
[:¥vd Bk &I &F
1 70m82 wRE 15 H5
2 70m80 BK B S41
3 68m34 HE &8 H5
4 66m37 [ X¥O 3EE| H26
5 66m33 nE RE H26
6 64m46 BEA AKX H25
7 64ma45 KA FEX H26
8 62m10 FER AN H25
9 60m06 ATE H8
10 59m20 N S42

5 14m24 BO &4 H16
6 14m22 RS E H29
7 13m95 AmK E&F H21
8 13m31 HE BX H24
9 12m94 FH —B R5
10 12m51 hlll EE S45
NI
[=Fivd EE 22l F
1 61m87 X=E s H23
2 53m56 % {REA H17
3 49m40 EH EHA S60
4 48m68 KE ZE H24
5 46m98 EE fith S63
6 46m76 it ER HS
7 46m74 EH &H&# H9
8 45m65 44t Ak | H24
9 44m08 BK BFE H24
10 43m34 KO EX H27
+TEF I
[-}ivd AL 8% &l &
1 717155 FER BN H26
2 6638 5% I R1
3 66173 WA Es H9
4 65875 HAg Gt Ri
5 6558 5% KA = H23
6 6509 41 R KB H28
L 62855 ]2 s = H30
8 624255 &L Rl S56
9 62075 it ERX H24




